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PART -1 Q. Booklet A
GENERAL ENGLISH Code

(1-5). There are blanks in the fullnﬁing passage, each of which has been numbered.
Four words are suggested against each number, one of which fits the blank

appropriately. Find the appropriate word.

Sarla is a housewife. She believes in qu. Sheis el i . She thinks as God is

wl(2) s ., He is present everywhere. She has two sisters. Her elder sister 1s
Renuka. Sheis .....ccona@)ececracns s Sﬁe dﬁes not help anybody and offer money to people
who are in need. Sarala's younger sisteris a ..............(4)............. . She spends too much
on useless things. Sarala has a friend. She is Vani. Sheisa ............(8) ............ . She

believes in fate.

1. (1) theist (2) mercenary
(3) bilingual (4) honorary
2. (1) expert (2) linguist
(3) versatile (4) omnipresent
3. (1) incorrigible (2) monogamy
(3) stingy (4) centenarian
4. (1) teetotaller (2) spendthriff
(3) biographer (4) mercenary
5. (1) fatalist (2) monogamy
(3). expert (4) versatile
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13.

Code
Rajesh behaves friendly and enjoys being with other people. The nature of
Rajeshis............... |
Find the correct word to fill the blank.
(1) sociable (2) trusting
(3) generous (4) sarcastic

The movie 'Bahubali' is the magnum opus of the director Rajamouli.

Choose the meaning of the underlined expression.
(1) thelast work (2) the first work
(3) theleast work (4) thebest work

Find the plural form of 'syllabus'.
(1) syllabuses (2) syllabi
(3) syllabis (4) syllabusis

Poverty is a barrier for many to get better education.
Choose the meaning of the underlined word.

(1) hurdle (2) surface
(3) hesitation (4) sentiment

Identify the word which 1is NOT a compound adjective.
(1) peacock —blue (2) father-in-law
(3) cold —blooded (4) new-—laid

Mounika 1s looking after her son.

Identify the meaning of the underlined expression.
(1) taking care of (2) searching for
(3) watching seriously (4) beating

I have not met my classmates for ages.

Identify the meaning of the underlined expression.

(1) along period of time (2) a very young age
(3) {:-ld-a_gé (4) no age

Choose the antonym of 'contented'.
(1) uncontented (2) 1incontented
(3) discontented (4) noncontented

13]
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Code
14. The word 'refuge'is referred to as ..............
(1) a person (2) aplace
(3) a thing (4) a mat

15. Indians consider Gandhiji 'the father of the nation' because he rendered ........ X
services to the nation.
Choose the correct form of the underlined word to fill the blank.
(1) considerable (2) considered
(3) consideration (4) considering

16. Find the sentence that has a relative clause.
(1) Who is your best friend?
(2) My father, who is active, is always busy.
(3) My sister is not only a singer but also a dancer.
(4) My brother is strong but he is short.

17. I............gothere tomorrow.
Identify the appropriate contracted form to fill the blank.
(1) willn't (2) won't
(3) shalln't (4) didn't
18; MadbUisiinssssission JEb:
Find the appropriate verb with correct tense to fill the blank.
(1) has arrived (2) has already arrived
(3) has not arrived (4) did not arrive

19. Thereis............... to make a cup of tea! What is wrong with the pipes?
Identify the appropriate expression to fill the blank.
(1) enough water (2) water cnough
(3) not enough water (4) not water enough

20. He missed his school bus...............
Identify the later part of the sentence.
(1) as he woke up late (2) but he woke up late
(3) or he woke up late (4) that woke up late

21. Iknow Madhu.
The passive form of the above sentence is ............
(1) Madhu was known by me (2) Madhu was known to me
(3) Madhu is known by me (4) Madhu is known to me
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28.

Q. Booklet

Code
Gold is precious than............. iron.
To fill the blank, choose the appropriate word.
(1) a " (2) an
(3) the (4) none of these

It may rain today.

This sentence expresses ........

(1) a permission (2) apossibility
(3) an abality (4) acompulsion

A: Are you bringing any friends with you?

B: Yes,am bringing.............. friends with me.

Identify the appropriate word to complete the response of 'B'.
(1) any (2) some

(3) every (4) each

In spite of his poverty, he completed his education.
Choose the meaning of the underlined phrase in the above context.

(1) located before (2) disregarding the difficulty
(3) because of (4) 1n the event of

She .covveeeeennnne, her homework before she slept.

Identify the correct verbs with appropriate tense to fill the blank.

(1) hascompleted (2) had completed

(3) have completed (4) will complete

Ganesh said, " Sister, I didn't finish my work".

Identify the indirect speech of the above sentence.

(1) Ganesh said that his sister didn't finish her work.

(2) Ganesh told his sister that he didn't finish her work.
(3) Ganesh told his sister that he hadn't finished his work.
(4) Ganesh asked his sister to finish her work.

Choose the gramatically correct sentence regarding to the use of
3 LA )3 ORI

(1) It'stime he did his homework. (2) It's time he does his homework.
(38) It'stime he will do his homework. (4) It'stime he may do his homework.

5] Turn Over



Q. Booklet A

Code

29, Nehruwasfond.................. children.

Choose the appropriate preposition to fill the blank.

(1) of | (2) in

(3) at (4) about
30. Hawving read the book, she returned it to the library.

The underlined part in the above sentenceis ............

(1) a nonfinite clause (2) afinite clause

(3) a defining relative clause (4) a nondefining relative clause

31. Choose the correct spelling.
(1) Tribute (2) Tribut
(3) Triebute (4) Trebute

32. Choose the sentence with correct capitalization.
(1) The Rose is a beautiful flower. (2) Sunday is a Holiday.
(3) Mohan is a Great Doctor. (4) Ramesh is a doctor.

33. Identify the sentence with correct punctuation.
(1) What a beautiful shirt this is! (2) What a beautiful shirt this is?
(3) What i1s a beautiful shirt. (4) This is a beautiful shirt?

34. Choose the wrongly spelt word.
(1) Survey - (2) Ketle
(3) Solemnly (4) Mourning

35. Aninterrogative sentence ends with .........
(1) afull-stop (2) a question mark
(3) an exclamation (4) adash

36. Writing a diary entryis..............
(1) abusiness writing (2) acommercial writing
(3) apersonal writing (4) anofficial writing

37. The following salutation is correct to address a collector while writing a letter of

complaint,
(1) My dear collector (2) The dearest collector
(3) Hello! collector (4) Sir
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Choose the subscription for a formal letter.
(1) wyours lovingly (2) yours truly
(3) yours ever (4) yours faithfully
The first sentence in a news report gives ............
(1) the message of the event (2) the summary of the event
(3) the details of the publisher (4) the details of the state
A biographical sketch provides ...............
(1) the details of a person's life (2) the details of a village
(3) the details of a marriage (4) the details of a road accident
Alas! She is dead now.
What does the above sentence mean? _
(1) greeting (2) hesitation
(3) obligation (4) grief
You should follow the rules.
The purpose of using 'should' in the above context is ..............
(1) toexpress obligation (2) togive permission
(3) totake permission (4) to express ability
It may rain today.
The language function of 'may' in the above expression is .......
(1) toexpress ability (2) toexpress possibility
(3) toexpress certainty (4) toexpress uncertainty
Your friend greets you "how do you do"?
What would you say to him in return?
(1) Ido very well. _ (2) I do everything fine

(3) Howdoyoudo? (4) Nothing to do

Identify the sentence which expresses a polite request.
(1) Why don't you give me your pen? (2) Iwant totake your pen.
(3) Please lend me your pen. (4) Idon't want your pen.
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(46-50). Read the following passage and choose the correct answers to the questions

46.

given after it.

The world's potential supply of fresh water has been affected by pollution
and irregular rainfall patterns. Water use has increased twice as fast as the
growth of population. In the future, global warming is expected to have a
significant impact on water supplies with increased floods in some areas and

droughts in others.

Most people in underdeveloped countries get their water from streams, rivers
or storage ponds. This water is likely to be polluted. The only clean water
available comes from underground, called groundwater, and 1s accessed through
wells and water pumps. One pump or well is often shared by a whole village.

This means having to walk a great distance to collect supphes.

Imagine life in your house with no taps for water and no toilets. This is how
more than two billion people in the world have to live. About three billion people
in the world are not able to wash their hands with clean water after using toilet-

in fact they have got no toilets.

Such conditions bring severe health hazards. Raw sewage constantly
pollutes their water supply and spreads diseases. Water pollution is responsible
for 25 million deaths a year and half of all the world's diseases are spread through

water.

As there has been an increase in population, there 1s an increase 1n

(1) usage of water

(2) supply of water

(3) floods and droughts
(4) growth of trees

8]



47. The best resource for getting clean wateris...............
(1) trees
(2) floods
(3) rivers

(4) underground

48. Choose the correct statement from the following.
(1) There are no streams in developed countries.
(2) Water in storage ponds is fresh and clean.
(3) We have to use clean water to avoid health hazards.

(4) There are no toilet rooms in underdeveloped countries.

49. This passage describesthe...............
(1) 1mportance of toilets
(2} importance of global warming
(3) water pollution

(4) importance of storage ponds

20. This passage saysthat.............
(1) thereis no fresh water in the world
(2) polluted water s.preads diseases
(3) we can't get groundwater from pumps

(4) we can get flood water because of global warming

S-2 (9]
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92.
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54.

55.
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PART - 11

BIOLOGICAL SCIENCE
Deficiency of this vitamin leads to Rickets.
(1) Tocoferol (2) Calciferol
(3) Retinol (4) Riboflavin
T4 Deadow §'s90 T35, O3 o8 iivod.
(1) 5% 2) =dyod
(3) b (4) %05
Emulsification of the fats in human body occursin..............
(1) small intestine | (2) liver
(3) pancreas (4) stomach
B0 DiaodyStrs0 B $8506° BB (POBO .erreeereen.
(1) 2% BHe (2) T Scwwnm
(3) wimise (4) Zovsosionm
The energy value of a single ATP moluculeis...........
(1) 2700 calories (2) 7200 calories
(3) 32 calories (4) 52 calories
&5 ATP G3o0k), 33 D009 wvvesrssens
(1) 27003&%en | : (2) 7200350
(3) 323&%0en | (4) 523&%Ces

Q. Booklet
Code

Ed

This conservation group proposed World Conservation Strategy in 1980.

T4 Soe™ Ssomro 1980 &° (550w St Ay HOS0o00.

(1) ICUN (2) IUCN

(3) UNDP (499 NUDP

Scurvy ;: Ascorbic acid : : Pellagra: .............

(1) Niacin ~ (2) Biotin

(3) Retenol (4) Folic acid

9,05t TN BB 1 3 DOT ¢ sevensveneas

(1) DOEPRS 2) oI35

(3) TId (4) OB B
[10]



26.

27.

28.

59.

60.

(3) Tongue (4) Nephron
595 5805065 &+ erima St :
B ¢Y G esoRn (2) es0d BEESN
- (3) Treox (4) BgtoEsnm

S-2
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Code
The structural and functional units that participate in the gaseous exchange
of lungsare...........
(1) Bronchus (2) Bronchioles
(3) Alveoli (4) Dendrites
&0 BBoo TAVITRES” PG ITEPES, BATHES SEPEFD e,
(1) Brgdarares (2) 3 OBe
(3) raXoirsen (4) To@u

Maximum retention capacity of urine in urinary bladder in adult man.

DOITERoe MAPEHIO0S" Sa(Bo KOR DesPratsie.

(1) 300—400 ml (2) 500-900 ml

(3) 700 — 800 ml (4) 400 — 700 ml
Enzyme that helps in fat metabolism.

(1) Trypsin (2) Lipase

(3) Ptyline (4) Pepsin

EQuo0 25500 Vokoed® S58ating s Jomam.

(1) 3o (2) BOHE

(3) ecwdS | GRS

Alkaloid used in the treatment of malaria is the product of this plant.
(1) Nicotiana tabacum _ (2) Azadirachta indica
(3) Cinchona officinalis (4) Rouwolfiaserpentina

SO0 TR DIHF SBCIPIIED esey, oo e Bk Glok, &BrD.

(1) IS Serso (2) emdbygols
(3) 08 eslirdS (4) ST OEFEHeES

Name this structure of the human body.
(1) Nerve ending (2) Villi
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61. Ethanol can be separated from sugar-yeast solution by this method.

(1) Freezing (2) Filteration

(3) Fractional distillation (4) Cuniing

158, 65453 [EP0es 19008 RETER o B BB erveesennne

(1) Soddnonto (2) Nespo

(3) oy dsdo (4) Sodsterses
62. The organisms which excreats honey dew1s...........

(1) Honey bees (2) Wasps

(3) Aphids (4) Rabbit

BIR0 DBPOW FDYO eesassssassens

(1) Tdiew (2) Soldires

(3) eatsd (4) Socden

63. The following diagram is related to this experiment.
(1) Osmosis
(2) Root pressure
(3) Photosynthesis
(4) Respiration

«— Glass tube / wer R

£55,900500 B¢ (SEPHADL DoBHO

(1) (S Rtes
B pesns ..
(2) Soow 4« Water/ bolet
(3) 3vereidg HoAITRECD '
(4) FSEOW
64. Inblood, carbon dioxide is transported in this form.
(1) Globulin (2) Plasma
(3) Biocarbonate (4) Carbonate
TS B a3y s’ 308 trsed’ trer Daetiw.
(1) Feo®S @ 29
3) BORS @) RS

S-2 [12]
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65. ESRD disease is related to this organ.

(1) Lungs (2) Heart

(3) Kidneys (4) Laver

ESRD 8 ¢ 1300 esdoisbinein Sonehodal,

(1) &e:d0de ©2) ool

(3) SorBhore (4) S
66. Reason for muscular painis.............

(1) accumulation of glucose (2) increase of oxygen in muscles

(3) accumulation of lactic acid " (4) accumulation of ethanol

Eoliore Tond To8E20 ccereererenies

(1) Sotorod® S8 Suwdisue (2) Sotrres esdind BiKto

(3) Soucres® oif wisin bodace  (4)  Sotreb gioed donHsto

67. Name the adjacent plant.
(1) Aspergillus
(2) Rhizopus
(3) Bryophyllum
(4) Agaricus

Sesnoodt Bseads daoky, S
(1) esfe

(2) TESS

(3) waFpo

(4) eomBE

68. Seeds used for producing biofuelis ............

(1) Jatropha (2) Ground nut
(3) Sunflower (49 Mustard
&2 Aomwido 5 0550 &8 DIMPATD ceererserssrese

(1) = (2) DTSN

(3) JrGEres (4) esmres

S-2 [13] Turn Over



69.

70.

71.

72.

S-2

Q. Booklet
Code

Correct statement of Charles Elton.

A) Carnivores at the top of the pyramid.

B) Energy trapping is high at the top of the pyramid
C) No producers at the top of the pyramid

(1) A only (2) both Aand B
(3) C only (4) both Aand C
T PR ST 80 TEgee.

A) SroTstte HEeE 39t grrod’ dewram.
B) 260G 390 grriod® Do) %8 [erotniidood
C) 26E 2pterios’ &tyd orides &ot

(1) A srg (2) A, BeoTotr
(3) C aorEgen (4) A, CeoTolr
Sperm cells of human male reproductive system are produced from ..........
(1) seminiferous tubules (2) epididymis

(3) scrotum (4) prostate gland
BOE BePoRd GBS Do WNSD DT BBIIND BEID eaerseernrens

(1) fonss TS (2) HBEH

(3) oo (4) Do o
Major component present in urine in human beings is ........
(1) urea (2) creatine

(3) sodium (4) water

BIPS DPBOE" QSN EOG SEFO wersesserssie

(1) c%ros (2) 1BorRS

(3) Péasie | (4)

Fill the equation correctly.
520889085 e BB BRTErSaNE’ Dol

?1+ 12HO — |?|+ 6 HO +|?

(1) CO,, C, H,OH, 60, @ 6C0,, 12H,0, Cz H,,0,

(3) 6CO,, C;H,,0,, O, . 4) 6CO,, CyH,, 04, 60,

[14]
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73. A, B, C, D are given below. Arrange the mechanism of urine formation in the

74.

75.

correct order.

A) Glomerular filtration
B) Tubular reabsorption
C) Tubular secretion

D) Concentration of urine

() A->-B—->C->D 2 BoA->C-—>D
B A-C—-B->D 4y A—-5B->D->C
A, B, C, D oo gieotroe. Sar@e D ST SR s® m;’::g_: .............
A) 1o mete

B) Stemdl sondese
C) ~>omvmdo
D) eHNMED Ko SorBo JGtto

1) A>-B->C->D 2y B>A5C-D
3 A->C—->B->D 4 A—-B->D->C
Which one of the following is NOT a renewable resources?
(1) Coal (2) Aar
(3) Water (4) Sol
808 TS’ HILEOSH BAD BOBD werrersrsens
1) &y | @ ™8
(3) (4) =g
These figures are related to ............... =
o . 750
(1) transpiration (2) reproduction plei= O3
(3) excretion (4) photosynthesis
(55,5965535 6% gPmrew D38 DOBID wecsssenes
(1) weydyson (2) BSoognd
(3) QL DGSI (4)  8Cesedg SodPHSOD
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76.

71.

78.

9.

80.

S-2

Q. Booklet
Code A

Element present in Chlorophyll.

(1) Magnesium (2) Ferrous

(3) Manganese (4) Calcium

SETOER &%) Saress.

(1) dhewo (2) b5

(3) Hroive (4) sdawo

This harmone is secreted when urine is with high concentration.

(1) Insulin - (2) Vasopressin

(3) Thyroxine (4) Adrenaline

SorrEies e MeEBE® &t B+ 5880 Stoselts.

1) 3995 (2) TR

(3) Tordw (4) eEdd

Liquid that oozes out after blood dot is...............

(1) Serum | (2) Plasma

(3) Lymph (4) Pus

OE800 1165 BeaTr &40 (255520,

(1) o (2) >y

(3) o (4) o5

Cells present in myelin sheath of neuron are .............

(1) Nissl's granules (2) Schwann cells

(3) a —particles (4) Globulins

TEEE B00HDS SLoNOET) KeTLO cverienene.

(1) 84S Spisen (2) @ Sewen

(3) a-Xewe (4) EEEJSQS&D

The phase in which DNA synthesis takes place.

(1) G,—phase (2) M -phase

(3) G,—phase (4) S-—phase

DNA :éof_%::m B icisaiiie

(1) G,—-&% (2 M-&3

3 G,—s (4) S-—&3

[16]



31.

82.

&3.

84.

85.

S-2

Fusion of sperm with egg cell is called .........

Q. Booklet
Code

LE R

fragmentation
ovulation

red blood corpuscles
blood platelets

D OF Seven
UF 05

Bile
Gastric juice

o i

r~1C 8 8" N EL

Tubectomy
Surrogacy

e a
S0

larynx
trachea

B3k

POIITIO

(1) fermentation 2)
(3) fertilization (4)
BoEEeRI, eoBH00 BO0NERD CRTPRROTTAD -
(1) B0 (2)
(3) Sebsbess (4)
Thrombokinase enzyme releases from ...........
(1) blood (2)
(3) serum (4)
FoS'TIE JoBo DATT® DEXIOIEID wersereeses

(1) o%a 2)
(3) o (4)
Engymes are absent in this digestive juice.
(1) Saliva (2)
(3) Pancreatic juice (4)
DOFH002) B BYLRIE0 wererenss

(1) rormetm (2
(3) Sotisim (4)

'This surgical operation prevents ovum from entering into oviducts.
(1) Hysterectomy (2
(3) Vasectomy (4)

. e0tic wotireiind I Do AE oW 69 N3G,
(1) eigosn 2)
(3) dazw (4)
Vocal cords are located in .........

(1) pharynx (2)

(3) nasal cavity (4)

DD EOTDEI cersrsesess

(1) o ' (2)

(3) =BT (4)
[17]
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Code

86. The most poisonous material among nitrogenous waste compounds of human

bodyis............

(1) ammonia (2) wurea

(3) uric acid | (4) bile pigments

BFHHA & DB $o10d BTed BB JRBOORND s

(1) e (2) ONroak

(3) cHarETvEsSw (4) DO DS
87. Example for highly branched digestive systemed animal.

(1) dJelly fish (2) Ascaris

(3) Fasciola hepatica (4) Star fish

e g2 S P DB B3 STRPEL? wererrrnes

(1) 2D (2) ;0

(3) PuGdroRrIrdze (4) SBoE Ve

88. This movement facilitates nutrients and oxygen are distributed into protoplasm
among unicellular organisms.

(1) Peristaltic movement (2) Cyclosis
(3) Brownian movement (4) Osmosis
Te VKD J5¥es YW WY ST, LRI SRFROTE BEHTR Bk,
(1) 0P weissas (2) &S
(3) (RS vemh (4) |Srdstes
89. Dialation of the pupil of the eye is under the control of this harmone.
(1) Thyroxine (2) Estrogen
(3) Adrenaline (4) Insulin
So3MS TP POVER) AWBoD FHERS. -
(1) 3odys (2 sofed
(3) esi&OS 4) 30
90. The reproduction in which female gamates develops into zygote without
fertilization.
(1) Fission (2) Budding
(3) Regeneration (4) Parthenogenesis
0L PORYSE DOLOES Socioy Decm ePHR DB St Merise.
(1) 292 (2) Sigsso
(3) PR (4) eQaEPpomren/adshn

S-2 [18]



91.

92.

93.

94.

95.

Q. Booklet

Alkaloid used in snake hite.

(1) Nimbin (2) Scopolamine
(3) Reserpin (4) Quimine
a0 Tean ool GEeE TG esopronG.

(1) 2ed5 2) 8PS
(3) &GS (4) 325
Example for saprophyte.

(1) Mushroom (2) Louse
(3) Paramoecium - (4) Owl
STIBTNIEO] ETEREED vevrereens

(1) o5 hfdar (2) oo

(3) g 4) 1ot

[or]

Stored energy unit of a cell.

Sered® Do, B3 BRI,

(1) NADP (2) NADPH

(3) ATP (4) ADP
Sphincter that helps in opening of stomach into deodenum.
(1) Cardiac (2) Pyloric

(3) Anal (4) Gastrc
AoToIH, LoRrreinG T BLET S ot Sowted St
(1) =gaxE (2) &8

(3) esvb @ mgs

The following equation was formulated by ..........
6CO, +12H,0——CzH|;, O +6 H, 0 + 60,

. (1) Lavoisier (2) Joseph Priestly

(3) wvan Niel (4 Robert Hill

5+ (30D BalESrtants ERPOBOUEITRED wuissies

6C0O, +12H,0——>C3H,, 0, +6H, 0 + 60,

(1) 8Faweb 2 Sy

(3) =56 (4) odird
[19]
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96.

97.

98.

99.

100.

Q. Booklet
Code

B, vitaminis alsocalled as .............
(1) Pyridoxin (2) Niacin
(3) Folic acid (4) Pantothenic acid
B, D088 00T DEOED erererens
(1) »0=dp (2) daures
(3) 305 esoiow (4) FoSBIE €53335300
Example for closed circulatory system.
(1) Ant (2) Cockroach
(3) Grasshopper (4) Octopus
PCND OF (Z30es és‘a’ﬁg B G000 cessssssses
1) 2 &t
(3) e 4) S35
Latex is obtained from this plant.
(1) Azadirachta indica (2) Hevea brasiliensis
(3) Cinchona officinalis (4) Rauwolfia serpentina
355, 3o Y, Buods oDExd.
(1) eerlbse ool (2) AP [@PEORy
(3) o8’ eTedS (4) BTG P
Protein deficiency among children causes.
(1) Kwashiorkor (2 Obesity
(3) Marasmus - (4 Edema
RIS S50 Dy Deoks BTG K008,
(D) sighairt (2) Sgestabie
(3) WoTrREsd @) s
Network structure of blood capillaries in nephron forms .........
(1) Hilus (2) Glomerulus
(3) Malpighian body (4) Renal tubule
F08’ I O50F D5l Sogroed DTResnd AV DHBID serserseens
1) 3pedS 2) Racted
(3) "yl Ero @) x>0
[20]
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101.

102.

103.

104.

105.

S-2

PART -
kel Q. Booklet A

PHYSICAL SCIENCE Code
The liquid which expands during its change of state into solid state is .........
(1) water (2) alcohol
(3) mercury ' (4) lhquid wax
DISSTIESIT HBETU DOBERHED TERIED DO +vseese
(1) o (2) eseyshen
(3) esssnos (4) BSOS sE
At this temperature water changes into gaseous state (in “Kelvin)
T4 (@00 SBIRHE Mo ToRRSEE wrtotecd (130 0f')
(1) 100 (2) 373 (3) 273 (4) 173
The boiling point of water might be less at this place.
(1) Hyderabad (2) Ooty (3) Mumbai (4) Chennai
B+ 300 8506 N3 Woissesise &&b‘bm SOLESA) 1assensne.
(1) P (2) &3 - (3) Hovora (4) S

Three bodies A, B and C are in thermal equilibrium. The temperature of B is
45°C, then the temperature of 'C' in%C) is ..........

A, B 558052 C eidsiipes ex S’ émman. B Gk, &8 45°C e C &,
&8 CC 08 ............

(1) 45 (2) 50 | . (3) 40 (4) 90

An example for photo chemical reaction is ............

(1) the decomposition of silver bromide into silver and bromine

(2) the decomposition of water into hydrogen and oxygen

(3) the decomposition of calcium carbonate into calcium oxide and carbon
dioxide

(4) the decomposition of lead nitrate into lead oxide, nitrogen peroxide and
oxygen

TIOD SO WO 2 ST ceverrssasncs

(1) o8 B - beb, BroSem 2850

(2) B -pEms, eddeste DEFpb

(3) s0aiio TES - 5o &3 B0 TGS B 3G DERHe

(4) BEJIES - 3G 3G, PSS DOTE Bo0oK esdieSenre 2ERHe
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109.

110.
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Code

The moist chlorine changes the colour of red rose, then thisisa .............

(1) photo chemical reaction (2) oxidation

(3) despersion of colour (4) bleaching

Botie 560 TP B KD BoKo0 SIS, 68 wererrrenes

(1) SPod SRS B (2) esdysoesie

(3) g (4) Do

When gingerly oil is left for longer periods, it gets spoiled. This is called ........
(1) bleaching (2) rancidity

(3) reduction (4) hydrogenation R

RO RIIX DX NSO GO e P P T4 (300 W5 eveeraens

(1) Dowsam (2) SodPatso (3) Fowoxsessw (4) PETIS

When a girl of 4 feet height sees her image in the plane mirror, the size of her
1image (in feet) is ...............

Tl eEIe oI EEIMO, Jode Sl B HBDowe WK, ey HSHon
SOEPeas (eXDI0DE®) werssesenss

(1) 8 (2) 4 (3) 1 (4) 2

If an object is placed at a distance of 10 ems from a concave mirror of focal
length 15 cms, the position of the image willbe............

(1) at the back of the mirror

(2) at the center of a curvature

(3) at principal focus

(4) between principal focus and center of a curvature

15 201120 TEHOBUR0 110 HIITL 308" 589 55500 10 20I. 00 (dDow ok

(1) ERoes0 Do @) sisoe Sogssn 55

(3) Eorurdxs (4) EorR D3 SEe® SomrdS
The nature of image formed in convex mirror ............

(1) virtual image, diminished (2) wvirtual image, enlarged
(3) real image, diminished (4) real image, enlarged
K025 Eheaind 68 DT OO BT eerenenraens

(1) Qogrg E&ewtn, UHd (2)  Dogr B&DowR, HED

(3) Qe ESDoR, WHd (4) Qe BdDoetw, 2EO



111.

112.

113.

114.

115.

116.

S-2
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Code
If the pH value of a substanceis '2',it1s a ........... )
(1) weak base | (2) strong base
(3) weak acid (4) strong acid
X Borgo GAoo%), pH Deus '2' e0onid &8 weveeineinia,
(1) 2elrodEEss (2)  2ouAS TEH
(3) eowarid esisioy (4)  2eRsd esidIE
Which one of the following will have pH value more than 7?
(1) Lemon juice (2) Tomato juice
(3) Lime water | (4) Sugar syrup
pH De5i5 7 55 2%, KOASG.
(1) DSt (2) eonTer e
(3) oot | @) %%
The number of water molecules in gypsum crystalis..............c...
23,85 35350 G0, D6 LY BOPg wvesesesrarsrs
(1) 10 (2) 1/2 (3) 5 - (4) 2
If the refractive index of a transparent material is 3/2, the speed of light in that

medium (in m/s) 18 .....ceevemnee

2. SRS ST B4R oeatio 3/2 50355, &3 QIPSELS® Tod Dt (Do) 0f)

(1) 4.5x%108 (2) 4.5x10%Y

(3) 2x10° (4) 2x10%

Which one of the following is Snell's law?

54 (300 & 208 Raidoo

(1) n, Sini = n, Sinr (2) n, Sinr = ny Sini
(3) SI:::.:: = ny Sinr | (4) S?fz,r = n, Sini

The angle of deviation produced by the glas.s C171 o e £ AR
el Dot Tod FoBd DD e wimens

(1) 45° (2) 0° (3) 30° (4) 60°
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118.
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Code A

A bird 1s flying down vertically towards the surface of water in a pond with
constant speed and a fish is exactly vertically below the bird inside the water.
Then the bird will appear tothe fishtobe...............

(a) farther away than its actual distance.

(b) closer than its actual distance. |

(c) moving faster than its actual speed.

(d) moving slower than its actual speed.

Which among the above are true?

(1) (a)and (b) (2) (a)and(c)
(3) (a)and (d) (4) (b)and (d)
wssviol’ &) 158 SsnE%) Dl eistBeo B corom HESEES (3003 Hoireiisiiet el
ooom odEk & %S Eﬁa’% S200TT E323loB008 ceeesersensores

(a) ©§ edeo o ¥oid Srtene

(b) 3§ esden o Kol &l

(€) BT Mo Kol oy oS’ Koevtone
(d) 355 o Soil Bl Mod Kvetoiea

2 ©907°06* S8 SIS0
(1) (a)and (b) (2) (a)and(c)
(3) (a)and (d) (4 (b)and(d)

Which one of the following is NOT the characteristic feature of the image formed
when the object is placed at 2F, of the convex lens?

(1) Image isat 2F,

(2) Real image

(3) Size of the object and image are same

(4) Erect image

D0gPS Seoliin ot 2F, 95 580 Mool Dt ddow ofrsnmn 5+ (300 6° il
(1) 2F, %5 ©&Dokn0 Didnd

(2) e BRdDowE

(3) BABOETLIEW, [PEDe HOEIPEIR0LY HEAFSED

(4) Deesd PdNowED

[24]
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119. Which one of the following is lens maker's formula?

120.

121.

5+ (300 TIE° 500K BOIPE HPEBAD weerereeens
1 1
@ F=n-1)[1/ R +1IBy] @ ) HE 1R
1 ik 1
® §-0|F @ F-|g

When objects at different distances are seen by the eye, one of the following
remains constant.
(1) Focal length of eye lens (2) Object distance from eye lens

(3) The radu of curvature of eye lens (4) Image distance from eye lens

D0 BPTES® e BHER WRSRHED Bod TIE° REoTR ol

(1) Sosse¥Tgosam (2)  SoudesSo B0l SHIH KekrEan
(3) Sowlkes HET® FPGrER (4)  SoudxeSo ok [F&Dow BrURL
If far point of a long sighted person is 'x'. The focal length of the lens he has to
USE 1S coveeennns |
50633 K035 SIEDOOPI Ko S50 'x' 90050 BF Emrts THESONS 58 TEOBUR0 cersrsens
- 25x _ 256x
g5 @ Y+25
x-25 x + 25
3 254 @ 95x

122. For a person of 8 years age, the least distance of distant vision is ...........

S-2

(1) 1m (2) 2m "

(3) Tto8cm (4) lto2m

8 5011 DOUE,) Mo B B0, Sy ¥IRETBO wererersesse

(1) 1 2 2%

(3) 75008 8 Do S, (4) 10082 .
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124.

125.

126.
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Code

The relation between velocity of light 'c', wavelength 1 and frequency of a wave
1B issnnmsuanuns

() r=cA 2) e=rA
3) cr=24 (4) ecA=r

TS DE0 ', BEONDe ' 1 ', B8k RPN T H o SOLeEEIN vereenene
(1) r=cA (2} PBE=FA
3) er=4 (4) cA=r

The maximum number of electrons that can be accommodated in the L-shell of

an atom 18 wiieiin

2. $EarrHER $to 'L Hods gints NI NOH DOFTHR0 508 e
(1) 2 (2) 4

(3) 8 (4) 16

When [ = 3 the maximum number of electrons that can occupy in the

corresponding subshellis .............

[ = 3 29000 T8 Sowohowd E;’:%cﬁcﬁs &ots NER ﬁ&gﬂﬂﬁsﬁ SO sasssssansrnans
(1 2 (2) 6
3) 10 4 14

The predicted properties of elements namely eka-boran, eka-aluminium and
eka-silicon were close to the observed properties of the following elements
respectively.

(1) Scandium, Gallium, Germanium (2) Gallium, Germanium, Scandium

(8) Gallium, Scandium, Germanium (4) Germanium, Gallium, Scandium

DTS, DEP eerDoloie BB ITHOTS 0% &R0 GoRes SN S+ SotDeadsd
Boresre $0B00WE STREK SRR Gon. *
(1) Fpedale, OO, Eﬁéﬁaﬁan (2) mdde, Eég.)cﬁ::-, Folkohe
(3) ™OGe, ,08aH0, BRI (4) cwo, mOAKo, Modae |
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129.

130.

131.
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Code
The number of elements in the sixth period is................
58 HOaHE 6% sarese =
(1) 8 (2) 18
(3) 32 | (4) 30

As we go from left to right in a period, the atomic number and atomic radius

(1) both increase

(2) both decrease

(3) atomic number increases and atomic radius decreases

(4) atomic number decreases and atomic radius increases

$5ae HOHESE 2 Bood HA3 ek E‘é, SEITED SO, HLETLW a‘b‘aﬂgfmw
(1) Coli>rdtoroTrow

(2) Tolir Bibzon

(3) STaPeas Sogs HOR BERTFew TG0 BitkEeD

(4) SEPe Sopy BR TR TERTO BEALBCD

The abnormal pair of elements in the following is .............
52 (300 TPIE° oGP SOOI 2083 vuverrenensn.

(1) Hand He . (2) Neand Ar .
(3) Krand K (40 KandO

Which one of the following elements has more atomic radii?
T+ (3025 30 Bareses® B8 B TR0 Jo T Soecd.

(1) Be (2) Mg

(3) Ca - (4) Sr

Which one of the following elements is electronegative?
T (308 TS 20065 DEXTGE Ko BAPGED cuversennee

(1) Na : 2 O

(3) Mg ' . (4) Ca

[27] Turn Over
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133.

134.

135.

136.
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Code
The bond angle of Berelium Chloride is...........
BEL0 508 &' 25055 5%90 DB ceveveesenes
(1) :80° (2) 120° (3) 110° (4) 104.31°

The inert gas element which do not have octate configuration in the outer most

Orbitis....cocvviren.
£RingronE’ el DREse B BETOSD BAPOEO eeranes,
(1) Ar (2) Kr (3) Rn (4) He

A ¢'.arge is moved from a point A to point B. The work done to move an unit
charge during this process is called .............

(1) potential at A

(2) potential at B

(3) potential difference between A and B

(4) current from A to B

TEEeS’ wf esiiie A S0t B X 50000, HD50M Sars el © Hotiig Wi 5sented

D205 230Pe> DD VAN T4 (300 DFOM® WOLTD +vssrscsrass

(1) A Peond (2) B Feogond

(3) A, B o b Feond Bt (4) Ad0d B 5 (3830 5o
The unit generally used for power consumptionis ...............

(1) Kilu-v.; att (2) Volt (3) Ampere (4) Ohm
FEFEere ASGIR0Ps DIGIFTPD) SO BOHEIE EHDTACW BT wruernssineas.
(1) 36%S5 2) 55 (3) esodosb @) &5

The equivalent resistance is '8Q', when two resistances are connected in series
and '1.5Q"' when they are connected in parallel. Then the values of these
resistancesis .............

Botss DS snes FedE’ Sesdenes 08 8% 80 =0 IV SareBtsu S0L% &b 1.5Q

000 T4 D8RSR0 GIo0E), B sassesssansens
1) 2,0.75 ‘(2 6,0.75
(3) 0.75,0.75 4 2,6
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139.

140.
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Code

In an electric circuit fuse 1s connected in ...........

(1) seriestoneutral wire (2) seriestolive wire
(3) parallel to neutral wire (4) parallel to live wire
Dﬁ:ﬁ Sedked’ e B 1308 O KONHTE wierescrsanes

(1) Sryeod b Be3s’ 2) 350 @3S

(3) wrgesd 2B SaroBBIT (4) B SErobEsT

Which one of the following material has high resistivity?

(1) Silicon (2) Wet wood
(3) Glass (4) Rubber
54 1360 SPO3 DD BIZ DS wevsesenens

(1) 20 (2) w&ioy,

(3) e (4) CTepto
Which one of the following converts mechanical energy into electrical energy?
(1) Motor | (2) Battery
(83) Generator (4) Invertor
OIFODE #30 DD THT WD werererernaes

(1) 2eerb (2) =ppb

(3) =:desb (4) 950

If we stretch the thumb, index finger and middle finger perpendicular to each
other in the right hand rule, with regard to positive charge, then these three
fingers indicate the following directions respectively, (When direction of force

is 'F, direction of velocity of charge is 'V, direction of field is 'B").

FTITR8 Somefold K4 BB oo’ Kb DO Fu Des, MR Des, Sames LT
5753 cowom ol (weodd ', eS8 B0 V', §00% 'B') Sakariail, Sukm 5

Sob BHoiks SPITo
(1) F,V,B (2) V.F, B
@) b ¥E | (4) F,B,V
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143.

144.

149.
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Code

A current carrying wire of length L1s placed perpendicular to a uniform magnetic

field B. Then the force Facting on the wire with current I1s ...........

B exciodn,of edanmrolisd Ko B ©0deigerdd vower L e Ko ans® I dxosd

o God. esdI Iie DE08 0,0 200 = ...

() IL/B (2) ILB

(3 I/LB @ BJIL

The reducing agent in thermite reaction.

Boe WiE" YoKseasTEte.

(1) Al (2) Mg

(3) Fe (4) Si

The process in which the ore is heated in the absence of air.

(1) Roasting (2) Calcination

(3) Smelting (4) Electrolyte refining

0 esotiozrend’ BHotr TrEsYNe Riee BB,

(1) e (2) nstese

(3) Rifede - (4) Dudite

Which one of the following is a carbonate ore?

(1) Magnesite (2) Bauxite

(3) Gypsum (4) Galena

51 (300 TS OIS PBIY ceererrarerees

(1) S5Res (2) T

(3) @i (4)

Highly reactive element that displaces H, in its reaction with watel
VApOUr 1S ..cc.cvn. | |
B BTdos ¥R D6 eDod 200 WiE pEash: 3;:5@::::‘-5& OB EAPCEID werrrperne
(1) Na 2) Ca @ K @ Mg
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The functional group which is recognized as alcohol 18 ..ooeeeeenen.

e9yS58eT TOBOWEE0RSH0 (FR0CK SRATITRID wesussssersseess

(1) -CHO (2) -0OH

3) - CO (4 -COOH

A hydrocarbon having single bond in between all carbon atoms 1s ...........
(1) Ethane (2) Ethene

(3) Propene (4) Butyne

B0l TE® D) TS BEEPEHL Bk HBCTPESY DTS creeionns

(1) &35 (2) BB

(3) S (4 wrdS

The unsaturated hydrocarbon that contain multiple bonds undergo the
following type of reaction to become saturated hydrocarbon.

(1) Combustion (2) Addition

(3) Oxidation (4) Substitution

ssrronecros ¥DA dod ey Senedd eods wpIEtses, Sodyl AE SRR SIS,
&2 |3c0 {35555 FEoeFon. |

(1) &% (2) Ho¥es

(3) esdyxtses @) pogss

Dissociation of ions in aqueous acetic acid is a reversible process, because
itis a ... s

(1) weakacid (2) strongacid

(3) weak base (4) strong acid

205638 esiis melErEsos’ ectiziy DA GHACI & ByRS 1 - Do5o50E 68 2 wrrereees
(1) 20TV (2) woSeNpo

(3) wekmogte - (4) weRseTto

The number of hydrogen atoms in octene 1s ............
Eﬁg'-E &R & ﬁWm@;E:@S

(1) 8 (2) 18 (3) 16 (4) 14
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